Statement working days Shri Shiv Kumar Tiwari as Add. District and session judge Rape cases and Pocso Act Kannauj. (From 01.04.2021 to 12.04.2021)

S. No.	Total Days	12.00 Days
1.	Sunday	2
2.	Second saturday	1
	Total No.of Non workingdays	(12-9)=3
	Total actual working days	9
	Work done	
1.	Civil work done	00.00 units
2.	Criminal work	34.50 units
3.	Administrative/ Misc.work	20.00 units
4.	Days exclude (in the light of letter no. 11/IV/2019 dated: allhabad 05.03.2019) during the assesment year (holidayes, casual Leave, Compensatory Leave, Sports meet & training) (3 x 3.28)	9.84 Units
5	Total units required to achieve after deduction of holidays, others leaves	29.52
6	Total units achieved during the peroid (01.04.2021 to 12.04.2021)	54.50

Shor Kumar Tiwari) Add. District and session judge/ Fast Track court No. 2 Kannauj.

Statement work done of Shri Shiv Kumar Tiwari as Add. District and session judge Rape Cases and Pocso Act Kannauj. (From 01.04.2021 to 12.04.2021)

S. No.	Criminal work done	Units
1.	1 S.T. decided contested @ 10.00 unit per case	10.00
2	7 S.S.T. (E.A.)decided contested @ 02.00 unit per case	14.00
3	1 S.S.T. (E.A.)decided contested @ 08.00 unit per case (1.50 unit extra incentive credit)	09.50
4	Recorded 313 Cr.P.C. in 02 case @ 00.50 unit/case	01.00
	Total Criminal Work	34.50
	Civil work done	
	Civil work done	
	Civil work done NIL	
S. No.	NIL	Units
S. No. 1.	NIL Administrative/ misc. work	Units 10.00
	Administrative/ misc. work Administrative/ misc. work	

Total Criminal Work+Civil work+Administrative/Misc. work =34.50+00.00+20.00 =54.50

Shir Keemartinan

(Shiv Kumar Tiwari) Add. District and session judge/ Fast Track court No. 2,Kannauj.

Statement working days Shri Shiv Kumar Tiwari as Add. District and session judge / Fast Track Court No. 2 Kannauj. (From 01.04.2021 After Lunch to 31.03.2022)

		01.04.2021 to 12.04.2021	13.04.2021 to 31.03.2022	01.04.2021 to 31.03.2022
S. No.	Total Days	12 Days	353 Days	365 Days
1	saturday & Sunday	3	74	77
2	IV saturday	-	09	09
3	Holidays & local holidays	-	14	14
4.	Saturday Lockdown	-	10	10
5	Casual Leave	-	14	14
6	Court close for sanitization	-	1	1
7	Recess	-	10	10
8	Duty off due to Roster	-	18	18
9	Annual Inspection of Nazarat Section (outlaying court) Chibramau ,Kannauj	-	1	1
10	Court close due to Hon'ble High Court letter 1945 date 20.04.2021	-	26	26
12	Total number of Non working days	3	177	180
13	Total Actual number of working days	(12-3) =9	(353-177) =176	185
	Civil work done	-	32.50	32.50
	Criminal work done	34.50	437.56	472.06
	Administrative / misc work	20.00	719.50	739.50
	Days exclude (in the light of letter no. 11/IV/2019 dated: allhabad 05.03.2019) during the assesment year (holidayes, casual Leave, Compensatory Leave, Sports meet & training) (177x 3.28)	9.84	580.56	590.40
	Total units Required to achieve after deduction of holidays, others leaves.	29.52	580.08	609.60
	Total units achieved during the period	54.50	1189.56	1244.06

Total units achieved during the period (01.04.2021 to 12.04.2021	Total units achieved during the period (13.04.2021 to 31.03.2022
54.50	1189.56
Total units achieved during the period (01.04.2021 to 31.03.2022	54.50+1189.56=1244.06
Percentage	204.16%

Shir kumar Tiwan'
(Shiv Kumar Tiwan')
Add. District and session judge/
Fast Track court No. 2 Kannauj.

Statement work done of Shri Shiv Kumar Tiwari as Add. District and session judge / Fast Track Court No. 2 Kannauj.

(F	r	om	13.	0	14.	2	021	to	31	.0	3.	2	02	22)

	[F10II 13.04.2021 to 31.03.2022]				
S No.	Criminal work done	Units			
1.	1 SST(DAA) decided contested @ 8.00 unit per case,03 unit extra for 10 year old case	11.00			
2	1 SST(DAA) decided contested @ 8.00 unit per case, 4.50 unit extra for 20 year old case				
3	1 SST(DAA) decided otherwise @ 00.00 unit per case(4.50 unit extra for 25 year old case)	04.50			
4	2 SST(DAA) decided contested @ 8.00 unit per case	16.00			
5	3 SST(Gangester Act) decided contested @ 8.00 unit per case,03 unit extra for 5 year old case	33.00			
6	1 SST(DAA) decided contested @ 8.00 unit per case,4.50 unit extra for 20 year old case	12.50			
7	1 ST decided contested @ 10.00 unit per case,04s unit extra for 10 year old case	14.00			
8	2 ST Connected decided contested @ 10.00 unit per case,02 unit extra for 5 year old case	12.00			
9	1 ST decided otherwise @ 05.00 unit per case,08 unit extra for 30 year old case	13.00			
10	3 SST(NDPS Act) decided contested @ 8.00 unit per case	24.00			
11	1 ST decided contested @ 8.00 unit per case,03 unit extra for 5 year old case	11.00			
12	242 Applications u/s 156(3) Cr.P.C.Disposed @ 01 unit/ 03 case	80.66			
13	52 Applications u/s 156(3) Cr.P.C.Disposed @ 00	00.00			
14	02 Criminal Misc. case Disposed @ 00.00 unit/case	00.00			
15	234 Bail Applications Disposed @ 00.15 unit / Bail	35.10			
16	Recorded u/s 313 Cr.P.C. in 34 case @ 00.50 unit/case	17.00			
17	Recorded Evidence 388 page @ 01 unit/10 page	38.80			
18	Framed Chagre in 22 case @ 00.50 unit/case	11.00			
19	Recorded u/s 200 Cr.P.C.& 202 Cr.P.C. in 183 case @ 00.50 unit/case	91.50			
.	TOTAL	437.56			
	Civil work done				
1	1 M.A. C.P. decided conteted @ 03.00 units per case	03.00			
2	19 M.A. C.P. decided (compromise) @ 1.50 units per case	28.50			
3	05 Civil Misc. case Decided @ 00.00 unit/case	00.00			
4	01 Misc. Civil Appeal Decided @ 00, 01 unit extra for 5 year old case	01.00			
	TOTAL	32.50			

1.	Administrative/ misc. work For uploading correct data on NJDG Server @ 0.25 for 182.00 days	45.50
2.	Special Court Gangester Act @10.00 unit /month(for month May-2021 to march-2022)	110.00
3.	Special Court NDPS Act @10.00 unit /month(for month May-2021 to march-2022)	110.00
4.	Special Court DDA Act @10.00 unit /month(for month July-2021 to march-2022)	90.00
5.	Having more than 500 case pendency @ 10.00 unit /month (April month May-2021 to march-2022)	120.00
6.	Work of link officer @ 3 Units per day (28 days x3)	84.00
7.	Nazarat incharge @ 10.00 units per month (for month june-2021 to Dec-2021 & March-2022)	80.00
8.	Quarterly Inspection of Court ADJ/FTC II Knj @ 10 unit /quarter (01.04.2021 to 30.06.2021),(01.07.2021 to 30.09.2021),(01.10.2021 to 31.12.2021), (01.01.2022 to 31.03.2022)	40.00
9.	Quarterly Inspection of Court Nazarat Section Kannauj @ 10 unit /quarter (01.04.2021 to 30.06.2021),(01.07.2021 to 30.09.2021),(01.01.2022 to 31.03.2022)	30.00
0.	Annual Inspection of Nazarat Section outlaying court Chibramau Knj @ 10 unit (on date 12.03.2022)	10.00
	TOTAL	719.50

(Shiv Kumar Tiwari)
Add. District and session judge/
Fast Track court No. 2 Kannauj.

Statement showing total work done during the assessment year (From 01.04.2021 to 31.03.2022)

1	Norms set (in units) during the assessment year (from 01.04.2021 to 31.03.2022)	1200 units
2	Days exclude (in the light of letter no. 11/IV/2019 dated: allhabad 05.03.2019) during the assesment year (holidays, casual Leave, Compensatory Leave, Sports meet & training) (from 01.04.2021 to 31.03.2022)	9.84+580.56 units =590.40
3	Actual unit required as per letter no. 11/Iv-h-14/2019 dated: allahabad 05.03.2019 (from 01.04.2021 to 31.03.2022)	29.52+580.08 =609.60
4	Total unit achieved during the assessment year (from 01.04.2021 to 31.03.2022)	1244.60
5	Percentage of total work done	204.16 %

Show keemer himani

(Shiv Kumar Tiwari) Add. District and session judge/ Fast Track court No. 2 Kannauj.